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▪ Programmatic orientations for a very significant decrease in energy consumption 
is a prerequisite to reach climate goals.

▪ Going out of fossil sources of energy further requires electrification of a vast 
range of activities (transport, industry, etc.). The electrical system can cope with 
such evolutions and put France on track for carbon neutrality at a reasonable 
cost.

▪ Renewable sources of energy are needed for energy transition. Whatever the 
scenario, their development must reach a very high pace, for all renewable 
technologies.

▪ Hydrogen is an asset for decarbonation and will be needed in scenarios with a 
high ratio of renewable sources of energy. More generally, flexibilities and 
electrical networks must be developed. 

▪ Building new nuclear reactors and big solar and onshore wind farms is 
economically relevant.

▪ Scenarios with very high ratios of renewable sources of energy (i.e. more that 85 
% in 2050) or which rely on nuclear reactors’ lifetime extension over 60 years 
would imply risky technological bets to reach carbon neutrality by 2050.

https://assets.rte-france.com/prod/public/2022-01/Energy%20pathways%202050_Key%20results.pdf
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